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Al 783 (22187)
< x| 3 7| = e
Al =49 &2 | A& =8 =0| e 248 | 5% e el b -
n &5F o3 33.0 | 5.0(4.0)] 4.0 3 |RCS| R | DB13.5| 1963 8,600
Al 798 M (ABD2R)
n &F mE 27.0 |10.0(6.2)] 4.1 3 |RCS| T | DB24.0| 2001 | 11,600
wl &F mA<| 37.0 |16.0(6.0)] 3.0 3 RA | RA | DB24.0 | 2001 4,600
m BF Auj 25.4 |15.0(12)| 5.8 3 |RCS| G | DB18.0| 1986 3,600
£ m BF &0l 29.0 | 8.0(7.2)] 3.8 3 |RCS| T | DB24.0| 2001 | 12,500
£ n| &F =9l 27.0 | 8.0(5.0)] 2.5 3 |RCS| G | DB18.0| 1982 7,400
Y o &F M| 30.0 | 6.04.5) 3.5 3 | STl G | DB13.5| 1965 2,500
s m| BF =2 | 33.0 | 6.0(4.5) 3.5 3 |RCS| G | DB18.0| 1988 3,600
£ ¢ 2 m & &2l 30.0 | 6.0(4.5)| 5.0 3 | STI | G | DB18.0] 1988 9,500
g ¥ @m a% s | 40.0 | 8.0(6.0)) 3.0 2 |RCS| G | DB18.0| 1994 4,600
EEDMD &= EH | 78.0 | 8.0(6.0)) 6.0 8 | PCI | T | DB18.0| 1979 | 15,000
a2 o4 @» = 2 | 26.0 | 9.4(8.0)] 3.0 3 |RCS| T | DB24.0| 1999 7,400
ol F T &FF | AH | o 46.0 | 9.5(8.0)] 4.5 3 | RCS| GP | DB24.0| 1999 5,000
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Az 805M (223F7F)

HS | u Y # a = 7| gzt Tz MASHE | E3dT |0 & F al
AN [ge|sa| ax | 28 | gol ag | stz
1 15 9 1 &= %9 28.4 8.0(7.2) 4.8 3 RCS G DB24.0 1999 6,600
2 | = 1 &7 st 24.0 5.0(4.0) 2.5 3 RCS G DB13.5 1970 3,500
3 st & 1 &F = 42.0 5.0(4.0)] 4.0 4 RCS G DB13.5 1971 7,400
4 |8 & 1} &F i} 27.0 6.0(4.5)] 2.0 3 RCS G DB13.5 1972 3,600
5 (& & I &F 2 34.0 5.0(4.0)] 6.5 5 RCS G DB13.5 1985 2,300
6 |8 = 1 FF A M 25.8 8.0(6.0) 6.1 3 RCS G DB13.5 1985 1,600 |&R/RES
7 |8 & 2 1| &F St 39.0 8.0(6.0)] 3.0 5 RCS G DB13.5 1988 1,900
8 |8 £ 2 1| &F i 20.0 |10.5(7.0) 4.0 3 RCS G DB24.0 1991 3,500
9 |z & | &F =4t 23.0 8.0(7.0)] 4.8 3 RCS | G DB24.0 1995 14,253
10 |&8 ¢ H| &F mi) 29.4 9.0(7.0)] 4.0 3 RA RA | DB24.0 1999 3,500
11 |A & 8 1 &F L 40.1 7.5(6.5) 5.5 1 STB | RTA | DB24.0 1994
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